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1. To enforce the fundamental rights, which among the following court(s) has / have authority to issue
writs?
1. Supreme Court
2. High Courts
3. District Courts
Select the correct option from the codes given below:
(@) Only 1
(b)Only1 &2
(c)Only2 &3
(d1,2&3
2. Constitution (103rd) Act, 2019 has made amendments to which of the following parts of the
Constitution of India?
(a) Fundamental Rights
(b) Fundamental Duties
(c) Directive Principles of State Policy
(d) Temporary Provisions
3. A constitution amendment bill has also provisions pertaining to imposition, abolition, remission,
alteration or regulation of a tax. Which of the following statements would hold correct for such a bill?
(a) This bill will need prior approval of president to get introduced
(b) This bill can originate only in Lok Sabha
(c) This bill can originate only in Rajya Sabha
(d) This bill can originate in either Rajya Sabha or Lok Sabha
4. Which of the following are the features of the presidential form of government?
1. President is both the head of the State and the head of government.
2. President is elected by an electoral college for a fixedtenure of four years.
3. President and his secretaries are not responsible to the Congress for their acts.
4. It does not provide a stable government.
Select the correct option from the codes given below:
(@ Onlyl&?2
(b) Only2 & 4
(c)Only1,2&3
(d) All of the above
5. Which section of the IPC states that any act done by anyone without any criminal intent for saving or
preventing harm to third person or property in good faith is no offence?
(a) Section 81
(b)-Section-82
(c) Section 83
(d) Section 84
6. Which section of the Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of Forest
Rights) Act, 2006 lays out a procedure by which people can be resettled from areas if it is found to be
necessary for wildlife conservation?
(a) Section 3(1)
(b) Section 6(1)
(c) Section 4(2)
(d) None of the above
7. Which of the following is not true regarding the payment of the emoluments to the President ?
(a) They do not require any parliamentary sanction
(b) They can be reduced during a Financial Emergency
(c) They are shown separately in the budget
(d) They are charged on the Contingency Fund of India
8. Which of the following is the correct sequence of the grades of officers in the Central Secretariat?
Secretary
Additional Secretary
Joint Secretary
Deputy Secretary
Under Secretary
Director
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Choose the correct option :

(@ 1,2,3,6,4,5

(b) 2,1,3,5,4,6

(c) 6,4,3,52,1

(d) 1,5,4,2,6,3

Consider the following statements:

1. The Parliament cannot enlarge the jurisdiction of the Supreme Court of India as its jurisdiction is
limited to that conferred by the Constitution.

2. The officers and servants of the Supreme Court and High Courts are appointed by the concerned
Chief Justice and the administrative expenses are charged on the Consolidated Fund of India.
Which of the statements given above is/are correct?

(@) lonly

(b) 2only

(c) Bothland2

(d) Neither 1 nor 2

The State legislative Assembly participates in the election of:

1. President

2. Vice-President

3. Rajya Sabha members

4. Members of legislative Council of the State

Choose the correct option :

(@ 1,2and3

(b) 1,3 and 4

() 1land3

(d) 1,2,3and 4

Choose the correct statement about the Economic Survey 2021

i) The economic survey is being delivered in an e-book format.

ii) The Finance Ministry has alsa launched an official Economic Survey app this time
(@) Onlyi

(b) Only ii

(c) Bothiandii

(d) None of the above

As per the economic survey, Chaose the correct statement

i) The Economic Survey 2021 showed an increase in public health spending from 1% to 2.5% of GDP
ii) The survey noted that the emphasis on the National Health Mission must continue
(@) Only i

(b) Only ii

(c) Bothiand ii

(d) None of the above

Regarding the Bare Necessities Index, find the correct statement

i) The economic survey has come up with bare necessities index at rural and urban levels
ii) It is based on 28 indicators and 4 dimensions

(@) Onlyi

(b) Onlyii

(c) Bothiandii

(d) None of the above

Which of the following are treated as Revenue expenditure of the Centre?

1. Making interest payments on debt

2. Subsidies

3. Grants in aid

4. All grants given to the State Governments/UTs

Choose correct answer:

(@1,2and 3

(b) 1and 4

(c)2and 3

(d)1,2,3and 4
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With reference to Farm Laws consider the following statements:

1. It strongly defended farm laws, saying a new era of market freedom which can go long way in
improving lives of small and marginal farmers in India.

2. These legislations were designed primarily for the benefit of all farmers.

Which of the following statements given is/are correct ?

(a) Only 1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

Our economic recovery after lockdown has become V shaped recovery. What does this signify?

(a) When the government see that inflation is getting out of control they respond by implementing
tight monetary policy

(b) When banks and firm see a large decline in their balance sheets due to falling asset prices and bad
loans.

(c) An unexpected event that causes a sharp fall in aggregate demand.

(d) It represents shape of a chart of economic measures economist create when examining
recessions and recoveries.

Consider the following actions by the government

i-cutting the tax rates

ii-increasing the govt spending

iii-abolishing the subsidies

In the context of economic recession, which of the above actions can be considered a part of the fiscal
stimulus package?

(a) iandiionly
(b) iionly

(c) iandiii only
(d) i,ii,and iii

Consider the following factors regarding an Industry

i- Capial investment

ii- Business turnover

iii- Labour force

iv- Power consumption

Which of these determine the nature and'size of the industry?

() 1, iii and iv

(b)i,ii.and iv

(c)-ii, iiiandiv

(d) i and iii

Economic Growth is usually coupled with
(a) inflation

(b) Deflation

(c) Hyper Inflation

(d) Stagflation

The basis of determining dearness allowance(D.A) to govt employees in India is

(a) National Income

(b) Consumer Price Index

(c) standard of living

(d) per capita Income

Consider the following statement related to FAO( Food and Agriculture Organization)
1. Itis a specialized agency of the WTO

2. It leads international efforts to defeat hunger and improve nutrition and food security.
3. It was founded in October 1945

Which of the following is/are correct statements related to it?

(@) 1and 2 only

(b) 2 only

(c) 2and 3 only

(d) 1,2and 3
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22. Consider the following about Intellectual properties
1. Patents exclude others from making, using, or offering innovation for sale.
2. Copyright is the right given by the creators of a product to anyone who can then reproduce the given
work.
3. One can innovate upon a patented subject matter of the patent whereas the same is not possible for
the copyright.
Which of the above is/are correct statements?
(a) 1and2only
(b) 2only
(¢) 2and 3 only
(d) 1,2and 3
23. Consider the following statements about AIM( Atal Innovation Mission)
1. The objective is to foster curiosity, creativity and imagination in young mind
2. Schools classes 11 and 12, managed by Government, local body can set up ATL.
Which of the above is/are correct?
(@) land?2only
(b) 2only
(c) lonly
(d) None of the above
24. Which of the following statements is/are correct?
1. Employees’ Provident Fundis a government established savings scheme for employees of the
organised and unorganised sector
2. Public Provident Fund It is open to everyone employed, self-employed, unemployed or even
retired
Select the correct code from the options given below
(@) 1and 2 only
(b) 2 only
(c) lonly
(d) None of the above
25. Consider the following statement about Ease of Living Index .
1. The rankings under Ease of Living Index were announced for-cities with a population of more
than a million, and cities with less than a million‘people.
2. Pune emerged as the top perfarmer in'2020 index.
Which of the above is/are correct?
(a) 1and 2 only
(b)-2 only
(c) 1only
(d) None of the above
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